Question Scheme

8(a) Use of v=u+ar: (10.5i — 0.9j) = 0.6j + 15a M1 3.1b
a=(0.7i—0.1j) ms? Given answer Al 1.1b
(2)
(b) Useof r=ur+ L as M1 3.1b
2
r=0.6j¢+ 1 (0.7i— 0.1j) 2 Al 1.1b
2
(2)
(0 Equating the i and j components of r M1 3.1b
1«07 =06i-1«017 Alft | Llb
2 2
t=1.5 Al 1.1b
3
(d) Useof v=u+ar. v=0.6j+(0.7i—0.1j) ¢ M1 3.1b
Equating the i and j components of v Ml 3.1b
t =0.75 Al ft 1.1b
3
(10 marks)
Notes:

(@)
M1: foruseofv=u+ar
Al: for given answer correctly obtained

(b)
M1: foruseofr=us+ L a2
2
Al: for a correct expression for r in terms of ¢
(c)

M1: for equating the i and j components of their r

Alft: for a correct equation following their r

Al: fort=1.5

(d)

M1: foruseofv=u+ar fora general?

M1: for equating the i and j components of their v

Alft: fort=0.75, or a correct follow through answer from an incorrect equation




